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HBAS YAIE FAGIIL SAS BOHAEZ AN, RAS FAE MAS 2E BAE RO
SO ASE0D B3 S0 S O 2400122 RIS AR BSH0 UKD, ST S
OiJt= X210t L2922 1 X0IS 2260k BC
1. @EAS RA RO
1) A £A2 HEA, SA £A2 RA
HEA 9 SAb g
D YA 2 D SAF %A
@ beSA(F)S 2o @ YAE HOIE RE BAF 24

The company designed a newly car. (X)
The company designed a new car. (O)
(d 2AtE MZ22 E Loth)

The price has recent risen. (X)
The price has recently risen. (O)
rE2 =20 &4s0H)

2) beS At 20l EEAL SHXIBE O A0l BI2t2 2ALXLEl
beSAtSl 20HE 2 SSAAIEH 1O 20 BI2F0] JA2H 2ALLE SO02CL ESME 20AM =Adts
A2 2A0IJ] IHEO0ICH

E E3A Xel CHE 2A Xel

be / become + --------- . be / become + --------- + EEAM
— become(~Jt EICH ~GHXICH= beS A2 HOl 22 SA0I22 20| SO A OloHSHCt

The project was / became successfully. (X)
The project was / became successful. (O)
(O Z2XNE= 453MCH /1 8SotH ZIACH)

The project was / became successful complete. (X)
The project was / became successfully complete. (O)
(4 E2dEs= 4282z OtR2l ZUC)
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SEAMI BAE 2l0t10, FAE EEAE =46 20 OS2 230120t 42 HoF AL

EAL+ EEAM + BM EEAN + EEA + M

It is a financial stable job. (X)
It is a financially stable job. (O)

(O H2 MEZEc=z HEAQI AHOIC)
We have internationally direct flights. (X)

We have international direct flights. (O)

(fcle FMAL Ag BHE =1 AsUTL)

Check-up 212 CHXID|

1. We should update the ---------- report.

(A) annual (B) annually

2. Her advice was ---------- helpful.

(A) real (B) really

3. We would like to work with ---------- new companies.
(A) innovation (B) innovative

Check-up &&EH

The factory will not become ------- until all the safety equipment has been tested.
(A) operate

(B) operator

(C) operationally

(D) operational

The hotel is -------- located between the international airport and shopping district.
(A) convenient

(B) convenience

(C) conveniently

(D) conveniences
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1) a + HAI + of = EEAMNF)
HO0AE a lot of2t 20| ‘a + AL + of 2 0|20 A ESAIFIL 20| EMot=0, 0l2ist HEesE2
TEAF + AR + AXAFE R2FUWA 210 GlLEel EESAE 2 0F SO

a+ HA + of o O a+ HA + of o O
a lot of z=2 a series of 2EH
a number of x2 (=9) a selection of US| HEHE
a variety of Ctekst a collection of s 232, 20t

A lot of / lots of people will participate in the game.
(2 AFFS0I Ao Eotg A LICH)

We have a variety of / various plans.

(fels Cree A=SS JtAL AULH)

2) TOEICHI A= &N = be + EEAF SEI2 =0
CIS2 ESAME2 beSAI2 20| dlLIS =0XME AMEHE HESE0122 022 Il SO0t
StCt.

® be + EEA + to.V

be + A + to.vV
be able to.V ~g = UL be reluctant to.V ~otJIE JHcAGHC
be likely to.V ~g 2 20 be pleased to.V ~ot= A= DIt StCh
be willing to.V JI9H0l ~atCt be ready to.V ~8 FHIJF S UATH

I'm willing to accept your offer.
(L= J1HO0I €l Hets 2AsUL

Ch)

The central bank is ready to raise interest rates.

(sd2dz 3L 22 =4It "o UASLILH)

@ be + EEA + XA

be + A + AXIA
be eligible for / to.V ~0l X+ UCH be skilled at / in ~ ~0ll SotCt
be dependent on ~ ~0l 2/ =3otCt be familiar with ~ ~0l ZSotCt
be aware of ~ ~E gt be capable of ~ ~E g = Al
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He is eligible for the prize.
(D= 2 &0l ohst Xr=01 UALH)

He is eligible to receive the prize.
Q= O &= &= XA0l AUALL)

— be eligible(Xt= 0] ACH) #22 F0l EXIA foret SEA(o.V)It 25 T S

1
<)
[w]

Check-up 218 CHXID|

1. They offer a --------- of salads.
(A) variety (B) various

2. Many people are reluctant --------- about their personal information.
(A) talk (B) to talk

3. The manager should be --------- with all the company policies.
(A) familiar (B) accustomed

Check-up &&EEH|

To be ------- for the position, candidates must have a university degree in economics.
(A) entitled

(B) eligible

(C) capable

(D) able

The success of our company is -------- on maintaining dedicated staff members.
(A) aware

(B) able

(C) ready

(D) dependent
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3. F2oloF & A (1)
1) 22 SH2 ESMY FM
=q0] EEAY 90l | 2AS 90l =10 EEAY 20l | 2AY 90l
early o A enough SZst S=0|
fast ik = e high =2 =
hard A2, SHest | FAGE], AGHN late =2 =
hourly O Al2t2 OF AlZ2tOFCH much 22 20l
daily He ol O Otct quarterly =IIE9 H=21 Otct
monthly =3 OH& OfCt yearly o42t9| OH& Ofct

He requested the quarterly budget report.
(d= 2718 M2 0ME QFRUCE)

— OJIA quarterly(2I122l)= F Al budget report(tl&t EDA)E =4822 EEAL0ICH

00

The newsletter is distributed quarterly.
(O =2dHE 2J/18=2 BHEEC})
— OJIA quarterly(2I1£22)= SAl is distributed(BI £ &I CHE =416t= S AL0ICH

no E&At not At none CHY At never S Al

| had no chance to interview him
(Ues O 2HFE D180t &3 SiRULt)
— no= E@EAM0I22 HAl(chance)S #=4]6tC}.

We will not return within 3 days.
(Rclz 32 OILHOl SOt2X 2= 240ICt)
— not2 S2AI0I22 SAl(return)S =41 tC}.

i

None of the managers were happy with the result.
(OHLIME =2 Ot2&% 1 Z00ol JItHSHR L ACH)
— none= HYAIOIE 2 = Xelol AFESEICh

They have never participated in the seminar before.
(AS2= 1 Mot oldol & $HE Aol =X0| ARULCH)

— never= 2 AI0|22 S Al(have participated)E =4!8tCtH not=2CH 21010t f Z5tCH

ol
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3) already / still / yet

already still yet
o|0| o101, ZMm OL& &, (A3 Ot&
2% 2E=2 282 FE=2 FE=2 ==

@ already (&M, 010I)

Olat 20 el st A&0ILE OlM0 LOitE 20lLt 20l CHoHA &2

The performance had already started.
(O BHES EM AZAULL)

@ still (H&3l)
O™ 20| Ola2CH ‘6 Eal

OIROXIX HUAHLE ‘A S

We still have not received our orders.

Rele =222 0 ot1l
(Rele =32 &0l &X =ot2 UCH)

é
I
m
N
0
o

ot=

— still2 not2 JIECE B2 M 20l 2Ch (not BtE 20l M& L)

@ yet (0+Z)
Gl&RHE 20l ‘OtA" OIRURIX %AS I AScSt= HSO0IH, d24U
ZEEH

We have not yet received our orders.

(R2s F2ES 01X 2 LYULCL)

— yet2 notE J|E=22 = M S0 20t (& N Fo M &ECH)

Check-up 21& CHXID|

1. They will --------- be able to join us.

(A) no (B) not

2. The performance --------- started when we arrived.
(A) already (B) yet

R have not made a decision.

(A) still (B) yet
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Check-up &l &

(A) No
(B) None
(C) Not

(D) Never

notices should be posted on the doors without the approval of the custodian.

Despite several months of study, Dr. Grenville has not finished the project.
(A) still

(B) already

(C) yet

(D) never

4. =5H0F B 2AF (2)

1) very 2 so, tooQ Xt0|

very (0H<?) so (0H<) too (L)
SAb =4 RE JI2EH2Z veryst 28 2329 20l
Higs =4 & Higs =4 R& Hus =& &
that® =gt R& that® =Bt Jt=s that® =gt R&
Their new product is very expensive. (O)
= Their new product is so expensive. (O)
(OS2 MZ22 HZ2 W< HIMLCH)
Their new product is very expensive that | can't buy it. (X)
Their new product is so expensive that | can't buy it. (O)
(222 MZ22 HNE2 2 BIMA Us 1 HS & 2 8lLh)
— very2t sodt 20IBC2= SLotALH S0l thatZ0]l UAS ZR= solt ALEaHOF StCh.
Their new product is too expensive.
(A2 MZ22 H3Z2 U2 HIMCLH)
— too= £ 20|12 GHAStCt.
2) ever (HEHZ ~=0M)
® EFHELA + ever ®@ zAZ + ever ® ever since @ than ever
-
- ¥4 YBM HEQ RC 24BN YN MTF -
=] =
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O SEEA + ever (12, &5l ~ &2ChH
S H L At(hardly, rarely, seldom &) FI0HA Zxg W =0, 0l I ever= S35l oH
FLIZD 222 2012t 2H EICt

I
o
on
il
S
)

o

We hardly ever went out.
(fels HY, &8 S0l LA 2UAULCH)

ever (HEHZ ~SO0l = 1)

+
& SO0l ever8 MM ‘GBI ~S0l =ek= 2012 Has00 22X 2 = ULH

TS

zlaag
=

AF22
(==

It was the largest trade show ever.

(O A2 HR =29 Jt&E 2 R SIALL)
@ ever since (-0ldiZ & 2)
since(~0leiiE) 20l everE M ™ sincedt ZXEAHAM ~0li2 & 2, GHEHZ 0let= 2012+ &Lt

The building has been vacant ever since 2001.
(O 222 20014 Oleiz & = HIH UALL)

@ than ever (0I™ 2Ch
glmel tias LIEtU=E than(~2CH0l everS 20/ ‘OIMECH GEIR 2Chete 2#EFIF =Ch

Last night's show was better than ever.

(OIM HMES A= OIFECIE D2 EUCH)

3) TX SAl A}

AOIOIA =Xe AT TD HBAE T= 0150|292 dY 4AF T= 2X2tD 220, 2
AABHE EAKS 2A0ID, 01218 2AIS2 CHSD 20l ol UCH

He almost = nearly
gf approximately = around = about = roughly
~Dt X up to
+ =Xkt
0l & / Olat more than = over
E| A at least
(=9 only = just

Almost / Nearly 10,000 commuters will benefit from the new system.
(M2 18 He| E2XNE0l MEE2 ANAHCZRH o8 = 20ICH)
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At least 40 passengers were Kkilled.

(Bl A 4020 SUS0| =QULL)

4) SA A2 Zots B
very (0H<?) extremely (LHEHS|, 2 & 2)
Sales will increase very. (X) = Sales will increase . (0)

(H0HDF O =50t S0t 20ITH)

The project succeeded extremely. (X) = The project was . (0)

(1 ZRMES HH5 SBHO0IUC)

Check-up 212 CHXID|

1. He hardly --------- washes the dishes

(A) before (B) ever

R 1000 people are likely to attend the event.
(A) Near (B) Nearly

3. The new smartphone sales have increased --------- .
(A) extremely (B) dramatically

Check-up &&EHR

The report is -------- confidential that only 3 people can have access to it.
(A) very

(B) too

(C) really

(D) so

------- 20,000 commuters will benefit from the addition of 2 new subway lines.
(A) More

(B) Approximate

(C) Over

(D) Near
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